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PHYSICAL GEOGRAPHY
Time Allotted: 2 Hours

The figures in the margin indicate full marks.
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1. Answer all the questions:
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Answer any fhree from the following
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2.8 Explain the various factors affecting mass movement.
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Distinguish between fold and fault.
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Describe in brief the factors of insolation.
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Iustrate the difference between cyclone and anticyclone.
s ¢ &Sl ylires Wi “ike i sEmal w9
TghaTe X Hfcreshard i dieen! F=Ic &I sl TR |

Write a short note on the causes of sea level change.
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Answer any fwo from the following
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Critically explain the theory of Plate Tectonics.
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Explain different erosional landforms developed by a glacier. Illustrate it with
suitable diagrams.
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Discuss the relationship between pressure belts and planetary wind system with
suitable diagrams.
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Give an account of the distribution of ocean currents over the Indian Ocean with
suitable sketches.
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